Let f be the differentiable function whose graph is shown in the figure.

The position, in meters, at time t (sec) of a particle moving along a

horizontal coordinate axis is given by s(/) :Io f(t)dt Use the graphof

f(x) below to answer the questions. aren e (O 0 Lle)dé

a. Find the velocity of the particle at t = 4.
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Let f be the differentiable function whose graph is shown in the figure.
The position, in meters, at time t (sec) of a particle moving along a
horizontal coordinate axis is given by s(1) =juf(r}dr Use the graph of
f(x) below to answer the questions. !

b. Find the position of the particle at t = 4.
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Let f be the differentiable function whose graph is shown in the figure.
The position, in meters, at time t (sec) of a particle moving along a
horizontal coordinate axis is given by s(1) =juf(r}dr Use the graph of
f(x) below to answer the questions. !

c. At what time does s(t) attain its absolute minimum and
maximum value? Justify your answer. N
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Let f be the differentiable function whose graph is shown in the figure.
The position, in meters, at time t (sec) of a particle moving along a
horizontal coordinate axis is given by s(1) =]uf(r}dr Use the graph of
f(x) below to answer the questions. !

d. For what values of t is the particle moving to the right? Justify
your answer.
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Let f be the differentiable function whose graph is shown in the figure.
The position, in meters, at time t (sec) of a particle moving along a
horizontal coordinate axis is given by s(1) =juf(r}dr Use the graph of
f(x) below to answer the questions. !

e. Approximately when is the acceleration of the particle
negative? Justify your answer.
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Let f be the differentiable function whose graph is shown in the figure.
The position, in meters, at time t (sec) of a particle moving along a
horizontal coordinate axis is given by s(1) =juf(r}dr Use the graph of
f(x) below to answer the questions. !

f. Write the equation of the line tangent to s(t) at t = 4.
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Let f be the differentiable function whose graph is shown in the figure.
The position, in meters, at time t (sec) of a particle moving along a
horizontal coordinate axis is given by s(1)= rf(r}dr Use the graph of
f(x) below to answer the questions. !

g. Determine any points of inflection for the graph of s(t). Justify
your answer.
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Solve the initial value problem given below
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Solve the initial value problem given below
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Find the general solution to the differential
equation given below




Find the general solution to the differential
equation given below p. 327 #1
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Find the general solution to the differential
equation given below p. 327 #3
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Find the general solution to the differential
equation given below




Find the general solution to the differential

equation given below p.3267
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Find the general solution to the differential
equation given below p.326 10
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Solve the initial value problem p.32612
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Solve the initial value problem p. 32613
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Solve the initial value problem p. 32613
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Multiple-Choice Questions
A graphing calculator is required for some guies-
rions.

1. Which is_the slope field for the differential
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